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EZ (T DR, T ORZIRIG)

V, W : $E2%E0, TV - W : #4544

rank(7) := dim(Im(7)) : T D B ;

nullity (7)) := dim(Ker(T)) : T @ B&iXot (BRILIREL).
(#% = kernel = null space)

T=T4:R"— R™ x— Ax (A 1T m x n1751).
rank(74) = dim(Im(7)) - dim(C(A)) = rank(A) ;
nullity (74) = dim(Ker(T4)) = dim({x € R" | Ax = 0})
DN LIRARER Ax = o DFZEHR DIRIG.
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o rank(7") & nullity(7) IZBRIZD 5707
» (SHBROFET) ERAEH & LTI N EELREM ¢

FHL 3 (YO )

V, W #JBZE/M, T:V - W : #8544, dim(V)=n
= rank(7") + nullity(7") = n.

(GERH) EF &L D, dim(Im(T)) + dim(Ker(T)) = n ZREIX L.
dim(Im(T)) =0 & T : ¥uEH < r = dim(Ker(T)) = dim(V) =n
X0, r<n&l, vi,...,v, : Ker(T) DEJEZR LD (r=00D& 13,
il e 62TV . 4EEM LD,

Vi, ooy Vi, Vg, ooy Vi DV DK E TE D (HEDIER).

ZoeE, S={T(vri1),--,T(vn)} (IS| =n—7) P Im(T) DK%
BT ERVAR, FEABDD.
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(1) 8 = {T(wri1), ..
kT+1T(WT+1) +
= T(kr+1vr+1 + -
= kr+lvr+1 + -
= kry1Veq1 + o0
= —kivy —
=k, =

=k =

(2) Im(T") = Span S.
TbEIm(T):EIwGVSt T(v)=hb
T(v) =

T(crvy + -+
ciT(vy) +---
C1 O +

T(vp)} 1 1 RIS,

4+ kT (vy) =0

+ knvn) =0

+ knvy, € Ker(T) = Span{vy,...,
+ kpvy, = 3kivi + -+ kv,
= kv + ke Veg + -+ kv, = 0

0. (

Vi,...,Vp Lil\{ﬁ\,gﬁﬁ)

+ 1Vl + oo+ Ca V)

=1 T (Vrs1) + -+ T (vy) (=b).
(. vi,...,v, € Ker(T))

HILARE NA

v}

+ CTT(WT) + CT+1T(V7’+1) 4+ ...
+Cfr O +CT.+1T(W,’,+1) + .o

+ T (vn)
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B4 (EHE3 0)%)

A:m x nA78. #L1IRFARR Ax = o DFZEFORITIE n — rank(A).

(FERR) T =Ty D & &, rank(Ty) = rank(A),
nullity(74) = dim(Ker(T4)) = dim({x € R" | Ax = o}) : #. 1 IR 8

X Ax = o DFRZEFDIRTETH - 7= (LOH). O
H#il
2 2 -1 0 1 11001
4|t -1t 2 =3 1| 00101
11 2 0 -1 00010
0o 0 1 1 1 00000

= rank(A4) =3

= 3 1 IR Ax = o DFZER W Ot =5—-3 = 2.

R, dim(W) =2 TH - 72 (55 6 [ D).

» $bb, B 1IRARR Ax =0 1 R7ZH EIZ4RKTH 303,
ERIX 3 AN T, RIZ5-3=2RHd5.
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53 HREHXITH - BUEEHR AT

Ty :R" - R™, x— Ax = Ty 3B EHTH - 7=,
FEix, TOWEMNKD IO

T:R" - R™ : fREEH
= JA:mxnf1hl st. T =T}y.

. 0
0 1

A= (T(e))---T(ey)) £T5. (ZD A% T DEEHELTH] 11 5)

( | > =z1@1 + - F e, € RTICHUT,

1 0
0
(FEHA) @1 = «),---,0371 ] RT OFHEEEIZN LT,

X

Tn

T(x) =xiT(e1) + -+ zaT(en),

a11z1 + -+ ainZn ail ain
AX == . =2 . + ..+ Tp :
am1®1 + -+ amnTn am1 aAmn

=x1T(er)+-+x,T(en). .. T(x)=Ax. . T=Ta. O
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A= (T(e1) T(ez) T(e3)) = (T(@)) T((E)) T((((E))) - ( % i g )
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o RIZ, — DT :V — W : FEBHIZIT L,
“T DITH A" 2185 HikZER 5. £HIZI,
B={vi,...,vp} : VOEIK, B ={wi,...,wn}: W OHEJE,

TV — W
w W

x — T(x)

1 1
x]p = [T(x)]p
m m
R"®» — R™
RUT, [T(x))p =Alx]p A7 m x nfidl Az XX,

BHE, x = vi ETHUZ, [vilp = o (BEHEBIRZ | L) T,
T(vi)lp = Alvilp = Aei= | - | ADifILY,

A=(T'(v)]p - [T(vn)lp)-
(A %K B, B 12T 5 T D15 &5, KT, T A3 1 IREH

(V=W)CTB=DB DL&, ()i BIHTST DH L\,

> of. FLRZHEEOM (5 10 []) (cf. - i, Z2RELDE)
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